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Date Interpretation Table Chart Questions for Bank Clerk Mains and PO
Pre Exams.

DI Table Chart Quiz 27

Direction: Study the following table carefully and answer the questions based on it.

The table given below shows the manufacturing of five types of trucks by a company during the years 2010 to
2015. Study the table and answer the questions.

Year
2010|2011|2012|2013(2014[2015
A 8 |20 |16 |17 |21 | 6
16 | 10 | 14 | 12 | 12 | 14
21 | 17 | 16 | 15| 13 | 8
4 6 | 10 | 16 | 20 | 31
25 |1 18 | 19 | 30 | 14 | 27

Type

m{O|O|®

1. The percentage increase in the total manufacturing of all types of trucks in 2013 with
respect to that in 2012 was:

A. 15 B.20 C. 25 D. 30 E. 18

2. The manufacturing of which type of trucks was 25% of total manufacturing of all types of
trucks during 2014?

A. A B.B C.C D.D E. None of these

3. During the period 2010-15, which type of trucks shows a continuous increase in
manufacturing?

A.D B.C C.B D.A E. None of these

4. In which year was the total manufacturing of trucks of type A and B together equal to the
total manufacturing of trucks of type C and D?

A. 2009 B. 2010 C.2011 D. 2013 E. None of these

5. In which year was manufacturing of trucks of all types taken together approximately
equal to the average of the total manufacturing during the given period?

A. 2010 B. 2012 C. 2014 D. 2015 E. 2013




Correct Answers:

1 2 3 4 5
B D A E C

Explanations:

1. Total manufacturing of all types of trucks in 2013 =17 + 12 + 15+ 16 + 30 =90
Total manufacturing of all types of trucks in 2012 =16+ 14+ 16+ 10+ 19 =75

90-75

Reqd. % increase = x 100 = 20%

Hence, option B is correct.

2. Total manufacturing of all types of trucks in 2014 =21 + 12 + 13 + 20 + 14 =80
25% of 80 = 20
Hence, it is clear that the manufacturing of D type of trucks in 2014 was 20.
Option D is hence the correct answer.

3. By just observing the table we can find that, it is the D type of truck in which there was a continuous
increase in manufacturing from 2010 to 2015.

Option A is hence the correct answer.

4, On calculating, we find that in none of the given years the total manufacturing of A and B is equal to

the total manufacturing of C and D.

It is hence evident that the answer is option E.

5. Total manufacturing of trucks of all types =8 +20+16+17+21+6+16+10+14+12+12+14+21 +
17+16+15+13+8+4+6+10+16+20+31+25+18+19+30+14+27 =476

476
~ Reqd. avg. = 5 79.33 =80

In year 2014, total manufacturing =21+ 12+ 13 +20+ 14 =80

Option Cis hence the correct answer.




I
\6/

= The Question Bank

SmartKeeda

U¥qd &} © \égg
TestZone ;
TRT &l Ja99 fhBrRd e RS

o'y

12 Month Plan
2017-18 All Test Series

3399/-

300+ %ol ol T

7 A fagelyor
4 St fawg A

M_EJI@T

3raft oS

Sl



https://testzone.smartkeeda.com/Test/Pricing

